
R1 99933 / 17-05-2010 / Rev. 28-03-2014

MMenck
Textfeld
Einbauanleitung - Spindeltreppe Oslo - weiß
Installation instructin - Oslo white
Notice de montage - Oslo blanc





2

× 11
K1-32031  Ø120cm
K1-32061  Ø140cm
K1-32066  Ø160cm

FSC Mix
× 11
K1-32033  Ø120cm
K1-32063  Ø140cm
K1-32068  Ø160cm

× 1
K1-32030  Ø120cm
K1-32060  Ø140cm
K1-32065  Ø160cm

FSC Mix
× 1
K1-32032  Ø120cm
K1-32062  Ø140cm
K1-32067  Ø160cm

90
0

× 1
K2-32001

90
0

× 1
K1-32002

90
0

× 1
K1-32001

M20

11
70

× 1
K3-07013

11
00

25

× 1
K1-32021

96
5

25

× 3
K1-32022

11
50

25

× 11
K1-32020

× 26
K1-32015

× 60
K1-32012

× 24
K1-32561

M56

× 2
K1-32004

× 1
K1-32014

32

× 1
K1-32024

15
5

× 1
K1-32563

16
0

× 11
K1-32560

M56

× 1
K1-32005

× 1
K1-32006

× 1
K1-32019

× 15
K1-32026

× 15
K1-32025

40

Ø120cm: 4,5 m
Ø140cm: 5,0 m
Ø160cm: 5,5 m
K2 32501

10
03

× 1
K2-32018

15

5 × 1 m
K1-32072

× 75
K1-32075

× 3
K1-32045

× 4
K2-32042

5 × 7.2 m
K1-32071

   

   

R1-99933-001

1

4

2

5 6

3

7 8 9 10 11

12 13 14 15 16 17 18 19

20 21 22 23 24 25

28 29

26



3

× 1
K2-32085

× 1
K1-32080  Ø120cm
K1-32081  Ø140cm
K1-32082  Ø160cm

40
1000

× 1
K2-32520

× 26
K3-03031
M6x10x20

× 27
K3-05013
M6x6

× 8
K3-08004
Ø10x60

× 2
K3-03024
M20

× 2
K3-04020
Ø20

× 1
K3-08002
Ø8x40

× 4
R1-63616
Ø10

× 14
K1-32097

× 26
K1-32096

× 1
K1-32246

× 1
K3-90001

× 20
K1-32070

× 75
K3-10200
M6x5

× 91
K3-10100
Ø6x40

× 8
K3-10075
Ø8

× 8
K3-10175
Ø8x70

× 75
K3-10250
M6x16

× 30
K3-10125
Ø5x35

× 15
K3-10025
M5

× 15
K3-10000
M5x18

Torx 25
Torx 30

PH2

4
3

13

30

2,5

× 5
K1-01015

× 1
K3-06029
Ø6x60

   

   

R1-99933-002

30

33 34 35

50 5251 53 54 55 56 57

58 59 60 61 62 63

39 40 41

64

4238

65



4

5 mm

4

12

14

13

15

× 1 × 2

× 3 × 4 × 5

   

   

R1-99930-003

210 mm 215 mm 220 mm

225 mm 230 mm 235 mm



5

×3 ×4

5 mm

16

13

13

12

1

×1 ×2

×5

   

   

R1-99930-004

210 mm 215 mm 220 mm

225 mm 230 mm 235 mm



6

H

+ 1 psc

N12

12N

12N

12N

12N

12N

12N

12N

12N

12N

12N 12

12

12

+ 1 psc

+ 1 psc

Total T × N P12

 12 × 3 pcs 
 = 36 pcs

 5 pcs 

 2725 mm 

 12 pcs 

12N
+ 1 psc

12

+ 1 psc

12

T

12  pcs

N 12 + 1 pcs
P

   

   

R1-99932-005



7

   

   

R1-99932-005



8

A

850

A

V

B B
-++-

A
750

A

V

B B
- + -+

A
650

A

V

B B

- + + -

   

   

R1-99930-007

Ø140 cm

Ø120 cm

Ø160 cm



9

   

   

R1-99930-007



10

½V½V

1

 4  30 mm

1

3

50

51

52

50

1

3



50 515231

1

1

   

   

R1-99932-010

1

3

4

2



11

75

31
5

31
5

20

C
 =

 6
50

 m
m

 Ø 120 cm 

2

3

2
3

35
0

35
0

92

C
 =

 7
50

 m
m

 Ø 140 cm 

40
0

40
0

92

C
 =

 8
50

 m
m

 Ø 160 cm 

   

   

R1-99930-015

5



12

25
0

25
0

75

 Ø 120 cm 
29

0

29
0

92

 Ø 140 cm 

33
0

33
0

92

 Ø 160 cm 

   

   

R1-99930-016

5R



13

2 3

50

50
51

52

 4  30 mm

2



502 3 52 51

   

   

R1-99932-020

6

7



14

15

13

14

12 0 - 5 
st|pcs

C

R85 mm

4

 6  60 mm
 
 

 10  60 mm

4

4

55

54

53

   

   

R1-99932-025

8

9

10

11

12



15

12

13

16

13

 1 

 2 

4

5

18

 1 

 2 

 3 

6

19

18

5

5

18

4

6

19

18

5

H

1810
mm

90 mm

X

Min. 250 mm

4

5

6

 
X = 

 H – 1920 mm X 6

   

   

R1-99932-030

13

15 16

14

17



16

7

56

20

6

5

57

7

56
20

6

19

18

5

57

   

   

R1-99930-035

18 19



17

56

21

57

22

22

53 50 54 55 38

 4  30 mm

 6  60 mm
 
 

 10  60 mm
   

   

R1-99932-040

20

23

21 22



18

56

57

21

22

22

53

54 55

50

38

 4  30 mm

 6  60 mm

 10  60 mm

   

   

R1-99932-041

20R
a

21R

23R

20R
b

22R

20R
c



19

 1 

1023

109

 2 

 4 

 3 

   

   

R1-99930-050

24 25 26

27



20

17

9

23

6  40mm

8  40mm

 1 

 2 

 3 

50

17

58
51

   

   

R1-99932-055

28 29

30 31



21

Ø 6mm

64

   

   

R1-99932-056

32 33

34 35



22

 1 

 2 

 3 

 4 

50 mm

28

25

59

34

65

25

28

   

R1-99933-060

36

37



23

 80 mm 

61

29

24

62
63

26

60

60

26

80 mm

29

26

26

60

60

42

42

   

   

R1-99933-065

38 39

40

41

38 41-



24

25

28

59

25

34

65

   

R1-99933-070

42



25

8

35

24

23

63

62

11

2534

28

52

51

59

34
65

   

   

R1-99933-075

43 44



26

30

60

26

60

26

61

60

26

60

26

34
25

59

34

64

42

42

   

   

R1-99933-080

45

46

47



27

39

40

39

39

40

5538 54
53

41

21 22

61

   

   

R1-99933-085

49

48

50

51


